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2A: SAID
M CAIAE 2 OoRY
Rl TAIEEESEE EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
S A 10,324,320 9,472,488 851,832
= 3,030,000 3,030,000 0
< 93,000 93,000 0
Al 7,201,320 6,349,488 851,832
CAP = 9,690,862 8,916,888 773,974
= 3,030,000 3,030,000 0
[ 93,000 93,000 0
Al 6,567,862 5,793,888 773,974
CAHEEE I 1,852,667 1,673,639 179,028
Jl2(EehE 2l 1,708,707 1,629,679 179,028
401 AlEBIL LY 1,148,118 969,090 179,028
01 AlZHI 1,144,000 966,000 178,000
OJI2 20 B]-E B ZA(SEH)
250,000 3002 75,000 40,000 35,000
OJt2 20 ZJAS B BAHARA)
250,000& x3002 75,000 40,000 35,000
O== JIZ2S =& e SAt
800,000 1352 108,000 0 108,000
03 Al 2CHYI 4,118 3,090 1,028
OJIZ2(22h) S 2el AR
4,118,000 4,118 3,090 1,028
TAIAIE 2 1,131,983 631,988 500,000
SADIZAHE & 2eHE(HE) - 1,131,988 631,983 500,000
401 AlEHIYL S THYI 1,053,339 553,339 500,000
01 Al&ZHI 1,050,000 550,000 500,000
OZMAl SAIZEHE (IHEH]) =88
930,000,000 930,000 430,000 500,000
CADIEtEE & OO Ed 5,424,946 5,330,000 94,946
= 2,305,000 2,305,000 0
Al 3,119,946 3,025,000 94,946
CADIBEY 2 O EN 2,332,500 2,300,000 32,500
201 er2 3| 3,500 0 3,500
01 AtR2tel] 3,500 0 3,500
O e=ZH| 2,000 0 2,000
OUEN=X LEXHLH EEE 7
2,000,000 2,000 2,000
ORI L= 600 600
OUHE Ots=0IAE 2 W=H|
600,000 600 0 600
0238 900 900
Ol dEd 2 23 =<
900,000 900 0 900
401 Al&BIL S THYI 2,320,000 2,300,000 20,000
01 AlZHI 2,320,000 2,300,000 20,000




2A: SAID
M TAAE E oo
Gl SADIEESE & JHEEX (SH9 H2)
SA - BB - SRA(3) - MRAY - BES 0l Ao ol E o timE=FT
O2EsH =dlZ =4 SAt
20,000,000 20,000 20,000
403 AXIEHMSAH=01d 9,000 0 9,000
02 I 2 SOtHE = E AEAE I 9,000 0 9,000
O ADIEIE HR=T 2 M S10&
9,000,000 9,000 0 9,000
S SH HOIEE sA2c 62,446 0 62,446
101 QI24H| 3,375 0 3,375
M JItHZ2 RS2 3,375 0 3,375
OStZSH HOISE 3tEa S 838 ¢
£ 3,375,000& 3,375 0 3,375
201 et23| 3,576 0 3,576
02 S3=gl 3,576 0 3,576
0332=s % HAl 3,576,000& 3,576 0 3,576
401 AlEHIYL S THYI 55,495 0 55,49
01 Al&HI 55,000 0 55,000
OIS HOISE AME=E |2
15,000,000 15,000 0 15,000
O I SH HOISE O3 A 4X(2LA
gl) 30,000,000 30,000 0 30,000
OZSH HOEB2 M= =
10,000,000& 10,000 10,000
03 Al 20HHI 495 49%
OXESH HOER AE2 SX22lAY
AE 20 495,000& 495 0 495
HWRES(ZAIL) 102,858 25,000 77,858
SEIE(ZAID) 77,858 0 77,858
SENE(TAIL) 77,858 0 77,858
802 Btet=JIEt 77,858 0 77,858
02 Al - EHIEE=SEHEZ 77,858 0 77,858
020224 SL=2 TS ALY T EHEHH
26,063,000 26,063 0 26,063
02023 ZHAl 2tS2 ZFEOHEAIY &
oA 51,795,000 51,79 0 51,79




